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clf

x = linspace(-2,4);
plot(x,0.5.~x) % a
hold on
plot(x,1.”x) % a
plot(x,1.5.”°x) % a
hold off
legend('0.5”x","1"x","1.5*x")
grid on

0.5, HFHm

1, &%
1.5, Higsm

05"
1)(
15%|

TR DK

JEE?b‘S e=2.71828182846 --- (*/], ]:07%;&) @i}%/ﬁ\ = Ef(ji)’ e ®?E§&%§§k er 75? eXp x &%<

1

Mathematics and Informatics Center 1 D 0D 000000000000 202000 0DO00O0O0 OO0O0O O0OOCCBY-NC-ND



JEZ €129 2 &y MMER

(A © DRI A BT HEEBIE LIRRI AR S B IR, ¥ L T o rt s s
SHAD?

clf

x = linspace(0,4);
plot(x,x.”2)

hold on
plot(x,2.”x)

hold off
legend('x”2"',"'2"x")
grid on
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clf

x = linspace(0,10);
plot(x,x.”2)

hold on
plot(x,2.”x)

hold off
legend('x"2"',"'2"x")
grid on
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clf

x = linspace(0,10);
semilogy(x,x.”"2)
hold on
semilogy(x,2.7x)
hold off
legend('x"2"',"'2"x")
grid on
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clf

x = linspace(1,10);
loglog(x,x.”2)

hold on
loglog(x,2.”x)

hold off
legend('x”2", '27~x")
grid on
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clf
x = linspace(-5,5)

X =
-5.0000 -4.8990 -4.7980 -4.6970 -4.5960 -4.4949 -4.3939 -4.2929 - - -

plot(x,x) % AbASHE D

hold on

plot(x,2*x+1)

plot(x, (x-1)/2)

hold off

legend('x"', "2x+1"',"'(x-1)/2")

daspect([1 1 1]) % it & AHohO 2 7 — L% [F CIZT 5
grid on
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clf
X = linspace(0,1.5)

X =
0 0.0152 0.0303 0.0455 0.0606 0.0758 0.0909 0.1061 - - -

plot(x,x) % RlHA5HEE D

hold on

plot(x,x.”2)

plot(x,sqrt(x))

hold off

legend('x", 'x*2","'x*{1/2}")

daspect([1 1 1]) % ffttih & K{dhDO A 7 — %R CIZT 5
grid on
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log,1=0(a"=1 )
loga=1(d =a )
log,(xy) = log, x + log, y
© loggx _ B
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* " log, 1000 ~ 10 (2! =1024)
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clf

x = linspace(90.2,15);

plot(x,log(x)/log(0.1))

hold on

plot(x,log(x)/1log(2))

plot(x,log(x))

plot(x,log(x)/log(10))

hold off

legend('log {0.5}x','log 2 x',"'log x',"log {10}x")
grid on
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clf

x = linspace(0.2,15);
semilogx(x,log(x)/log(0.1))
hold on
semilogx(x,log(x)/1log(2))
semilogx(x,log(x))
semilogx(x,log(x)/log(10))

8

Mathematics and Informatics Center 1 D 0D 000000000000 202000 0DO00O0O0 OO0O0O O0OOCCBY-NC-ND



hold off
legend('log {©.5}x"',"'log 2 x',"'log x', 'log {10}x")

grid on
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